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GENERAL KNOWLEDGE

B Which of the following is a non-arthropod borne disease :-
(a) Malaria (b) Dengue
(c) Tetanus (d) All the above
2. Mitochondria are not present in :-
(a) Algae (b) Bacteria
(c) Fungi (d) Protozoa
2 The group of proteins responsible for cell lysis are :-
(a) Complement (b) Antibodies
(c) Cytokines (d) None of the above

4, The Polymerase Chain Reaction (PCR) is used to :-
(a) Transcribe specific gene
(b) Amplify a specific DNA sequence
(c) Translate specific gene
(d) All of the above

. The red colour of Wine is due to :-
(a) [ Carotene (b) Anthocyanin
(c) Lycopene (d) Melanin

6. “Proviso™ is :-

(a) A clause inserted in a formal document
(b) A clause inserted in a legal document
(c) (a) and (b) both above

(d) None of the above

7. Correct legal meaning of “wrong’ is :-
(a) Sinful Act (b) Infringement of Law
(c) Infringement of social norm (d) None of the above
8. ‘Decree Nisi’ can be implemented :-
(a) Immediately (b) Never
(c) After a specified period (d) When a person wants to implement it
0. *Title’ is related to :-
(a) Time schedule (b) Legal duty
(c) Legal right (d) Obligation
10.  ‘Stare decisis’ means :-
(a) In the course of Trial (b) Undecided
(c) Grounds of decision (d) Stand by things decided
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(c) WHI (d)  greruan

S A1 91 9qg SIR1$1 Iuged & fay Iarer) @ —

(a) @HUAAE (b) UdErE

(c) wrgeidIs—a (d) Sulad # A dlg 8!

flo Ho 3o (wrehfRw A5 afdfsan) &1 At fFs1 9 4 fvw @ forg grar 8-
(a) faorw She &) ufafefa s

(b) ey aifsa Slo T Yo IAHH &1 q@T1

(c) faely ofl9 & exrade (Translate) ®AT

(d)  Sulad i A

drg< @1 o X7 b dRer 4 gldl @ —

(a)  drer dA (b) weaTargfE
(c) rgadid= (d)  Aarf+
R AT B

(a) 3ityaiRe ceady ¥ a:efia @vs
(b) fafSre Twdw ¥ sia-wiftd @vs

(c) @ (a) 3R (b) =T

(d) ¥ q g a8

A9 BT e faftre aef 2:—

(a) 9™ P (b) R @1 Seig=

(c)  GHIfsTed HITdH &1 I " (d) Suidgd A A &g 8]
&S D Ar ) ST gl 8-

(a) dqr-d

(b) & F&)

() fafafdse safsr & gwam
(d) o4 aafda g9 @ yafda sxe=r agar 2

g BT WHEH 8

(a) awd AT A (b) fafsrs w<dan @
() faftre arforer @ (d <ifia |
wIx fearsfR’ &1 aef 8-
(a)  fagmome= (b)y  aifvroffa
() fafyea & smuR (d) Foffargaze
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Which one of the following chemical is used as food preservative?
(a) Sodium Hydroxide (b) Sodium Sulphate
(c) Phenol (d) Sodium Benzoate

pH of human blood is :-
(a) 3.3 (b) 5.9
(c) 7.4 _ (d) 11.4

The refractive index of air is :-
(a) 0 (b) 1.0
(c) 1.33 (d) 1.5

Muscle fatigue occurs due to the accumulation of :-
(a) Pyruvic acid (b) Lactic acid
(c) Oxaloacetic acid (d) Malic acid

The enzyme that hydrolysis cane sugar to glucose and fructose is :-
(a) Zymase (b) Diastase

(¢) Lipase (d) Invertase

The maxim *Caveat Emptor’ denotes :-

(a) Let the seller beware (b) Let the auctioneer beware

(c) Let the purchaser beware (d) All the above

‘Malus usuo’ means:-
(a) A good custom (b) A bad custom
(c) A normal custom (d) None of the above

*Quo-warranto’ is a :-

(a) Case which can be filed in subordinate court
(b) Proceedings of a Tribunal

(c) A writ

(d) None of the above

‘Transferable interest’, means :-

(a) Any interest which is assignable
(b) Any interest which is not assignable
(c) Transfer memorandum

(d) Transfer adjustment

Administrative Tribunal :-

(a) is simlar to a court (b) has some trappings of a court

(c) is bound by strict rules of evidence (d) None of the above

(4)
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(a) WIfeyH BIggliauiss (b) Wfean wewe

(c)  feira (d) wifeaw a=iive
12. ¥4 Yad &1 9o 4o (pH) grar &:-

(a) 2.7 (b) 5.9

() 7.4 (d) 114

13. &4 @I JAudd-ie 2
(a) 0 (b) 1.0
(c) 1.33 (d) 1.50

14. g & ggu & sror 1NG ya ardl -
(a) urgefa®s ar<l (b) otfaes 3r
(c) amdudl gfafes ara (d) Afes ara

15. = @) A B TEHIS qAT BdHeld W TANUHST DR dlell fhvad (YogH)

(a)  wIEAW (b) srEESH
(c)  <mgUd (d) e
16. ‘®fdge gwuex’ A sfra dvdr 23—
(a) fasar wr@emE @ (b) NemHedal wrag™ @
(c)  shdl |IgETT I8 (d) Suxiad g+
17. 'Aq¥ Iygal’ &1 3ef -
(a) = g (b)  @uT
()  \THI=I geIr (d) Suxtgd A @ Py TN

18. ‘If&HR y=B1' (P4l dRUe) & —
(a)  rafaver |rTay ¥ SRR fHar oF aren dre
(b)  =maTfSreYer & ufdpar
) us Re
(d) wdged ¥ @ ¢ 980

19.  ‘aravefig faa’ &1 aref 8-
(a) @rg ot fda W siavef (wwrgefE) @
(b) @Y fRa 1 sveia (wgelE) a8 2
(c) NI
(d) 3R] FHTATETA

20. yumEfe JAfer@Rer -
(a) TTAY & WWeU @ (b) H ~TATY P B AN B
(c) wEg d de fradl d amEg &8 (d) SWRigd A 4 dIg Tl
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The following soil particles are arranged in the order of decreasing size:-
(a) Gravel - Clay - Silt - Sand (b) Gravel - Sand - Silt - Clay
(c) Clay - Sand - Silt - Gravel (d) Clay - Silt - Sand - Gravel

The ozone layer thickness is measured in :-
(a) Decibel (b) Dobson Unit
(c) ppm _ (d) Becquerel

Which of the following hormone is called as emergency hormone?
(a) Insulin (b) Thyroxin
(c) Dopamine (d) Adrenaline

Which of the following is a secondary air pollutant :-
(a) Particulate matter (b) Carbon dioxide
(c) Photochemical smog (d) None of the above

Which among the following proteins is found in milk :-
(a) Renin (b) Casein
(c) Myosin (d) Actin

The word ‘Prima facie’ means :-
(a) on the back of it (b) on the middle of it
(¢) on the face of it (d) All the above

‘ejusdem generis’ means :- ‘
(a) of different kind or nature (b) of same kind or nature

(c) of specific kind or nature (d)  of the different generations

‘Cognizance’ means :-

(a) Legal right to deal with a matter
(b) Jurisdiction

(c) The hearing and trying of a cause
(d) All the above

Give one word for the following:

‘Acting in good faith” :-

(a) Satisfactory (b) Excellent
(c) Attractive (d) Bona-fide

The latin term “Nexus” means :-
(a) Bond (b) Link
(c) Connection (d) All the above

(6)
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Which one of the following is Vitamin-C:-
(a) Ascorbic Acid (b) Nicotinic Acid
(c) Riboflavin (d) Pantothenic Acid

The normal diastolic pressure in humans ranges from ?

(a) 75 - 90 mm of Hg (b) 90 - 100 mm of Hg
(c) 110 - 120 mm of Hg (d) 130 - 150 mm of Hg

Which of the following pairs is not correctly matched?

(a) Eutrophication - Increase in N and P in lakes

(b) Depletion of ozone layer - Release of CFC’s in Atmosphere
(c) Production of SO, & CO, -  Burning of Coal

(d) Decrease in BOD - Global Warming

The study of finches at a place enabled Darwin to some conclusion about origin of species
and theory. Which is that place?

(a) Galapagos Archipelago (b) Darwin’s Bay

(c) Strait of Magellan (d) Tahiti and New Zealand

Persons with Down’s Syndrome also called Mongoloids are :-
(a) Monosomies (b) Allopolyploids

(c) Autosomal trisomies (d) Sex chromosome trisomies

“Liquidated damages” are :-

(a) Primarily fixed by the parties (b) Not primarily fixed by the parties
(c) Damages fixed by the Court (d) Damages fixed by the mediator
‘Duly’ means :-

(a) Applied (b) Executed

(c) Presented (d) In due manner

Latin Term “Ad-Valorem” means :-
(a) In the meantime (b) According to the value
(c) For the suit (d) None of the above

‘Rule of law’- denotes:-

(a) Supremacy of law (b) Supremacy of Courts
(c) Supremacy of Parliament (d) Supremacy of executive
“alibi” means :-

(a) At another day

(b) Foreigner

(c) Otherwise

(d) A plea by an accused of an offence that he was elsewhere

(8) Series-A
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41.  Quinine is obtained from the bark of :-

(a) Papaver somniferum (b) Cinnamomum tamala
(c) Cinchona Calisaya (d) Rauwolfia serpentina

42.  The objective of signing Montreal Protocol was :-

(a) Protection of wild life (b) Protection of ozone layer
(c) Control of noise pollution (d) Protection of lakes
43.  The antibiotics kanamycin, tobramicin, streptomycin and gentamicin all belong to :-
(a) Cephalosporins (b) Aminoglycosides
(c) Moxalactams (d) Tetracyclines

44.  Flowers of which plant are used to extract orange colour in Holi:-
(a) Flame of the forest (b) Rose tree
(c) Indian Laburnum (d) Reinwardtia

45.  The brown leaf spot of rice is caused by :-
(a) Virus (b) Fungus

(c) Bacterium (d)  Chemical deficiency

46. The first Recorder at Recorder’s Court at Madras was :-

(a) Sir Thomas Strange (b) Sir William Syre
(c) Sir William Bentik (d) Lord Carnwallis
47.  Consider the following and select the correct answer given below :-

(1) King George II issued the Charter of 1753
(i) The Company removed the defects in the old Charter by the Charter of 1753

(a) Only (i) is correct (b) Only (i) is correct
(c) Both (i) and (ii) are correct (d) None of the above is correct

48.  Under Charter of 1726 each Presidency Town was to have a corporation consisting of :-
(a) A Mayor and 9 Alderman (b) A Mayor and 11 Alderman
(c) A Mayor and 10 Alderman (d) None of the above

49.  The scheme of 1787 of Lord Carnwallis was based on :-
(a) Fusion of revenue and judicial functions in one person. i.e. Collector
(b) Fusion of civil and criminal matters in one person. i.e.. Collector
(c) Fusion of revenue and criminal matters in one person. i.c.. Collector
(d) None of the above
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41. @@= fHad) 8iad 9 9y ghar 27
(a)  turar WiEHRH (b)  Ra=rtws asTer
()  Rr=pi=n dferarn (d) <afewar adfear
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(i) @A A A AR o SHAT B 1753 B AR gIRT GgHTE fhaT o1

(a) @ad (i) 9L 2 (b) @dad (i) ¥dl 2
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(c)  NIvi¥d ud uafersd ArTel &1 s 8l aafdd A4 [fga g4 o dader dadrdan
o |

(d) Suxlsh ¥ q &g 981

ATL (11) Series-A



50.  Which Charter granted the right to appeal to Indians to Privy Council?

(a) Charter of 1726 (b) Charter of 1773

(c) Charter of 1774 (d) Charter of 1781
51. One of the following is not a green house gas in atmosphere :-

(a) Nitrogen (b) Carbon dioxide

(c) Methane (d) Water vapour

52. The state tree of Uttarakhand, Burans belong to family :-
(a) Moraceae (b) Fabaceae
(c) Salicaceae (d) Ericaceae

53.  The BOD helps to determine the :-
(a) Extent of organic pollution in waste water
(b) Number of bacteria in 100ml sample of water
(c) Types of biota in ecosystem
(d) Filtering capacity of soil

54.  The most abundant renewable bioresource present on earth is :-

(a) Lipid (b) Starch
(c) DNA (d) Cellulose
55. A medicinal substance given against the intake of poison is known as -----=----- -
(a) Antibody (b) Antigen
(c) Antidote (d) Antibiotic

56.  In which year Simon Commission was established ?

(a) 1919 (b) 1927
(c) 1928 (d) 1930
57.  Who among the following created and organised profession of lawyers on a regular basis?
(a) Lord Carnwallis (b) Warren Hastings
(c) Sir John Shore (d) Lord Linlithgow
58.  Under Government of India Act, 1935 legislative powers were divided into :-
(a) Two lists (b) Four lists
(c) Three lists (d) None of the above

59.  The First Law Commission was appointed in which of the following year?
(a) 1833 (b) 1834
(c) 1835 (d) 1836
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HRAAY &1 fpyg 9rdy & grr Ad ssf~ad § ardfla x4 &1 AfSidR gygE fear
gr?

(a) 1726 &I 9TER (b) 1773 &I 4ATER

(c) 1774 &I ATER (d) 1781 &I 4reR
frs1 & @ td argavsd @ A9 869 T8l 8-

(a)  ATSCToMA (b) BIEA STSATFATSS
(c)  #HA (d) ol arsg

STRIES &1 U ged, 3091, [H9 @ &1 gew 2 ?
(a)  #R™A (b) haH
(c) Afeadl (d)  dawH

€10 3o o (BOD) fewa feizor § weras 27

(a) omuflRre §a # Wfdd yguu &1 &

(b) el @ 100 fAochlo & A H Sharo= &1 G
(c) uRa= # shaud & Y&

(d) ¥ & Faee awarn

gedfl Ux waifdrs #wra1 A Wi @H drenn Jd grefae waed @ -

(a) fafus (b) erd

(c) <o TH0 To (d) degera

v aitReN ueref ot 6 fAy a4 @ fawg fear wmar @, & Had oi—
(a)  wfawef (b) ufer

(c) ufafaw ufers (d) ufRrifas

29 S &1 o+ g af 9 fear T on?

(a) 1919 (b) 1927

(c) 1928 (d) 1930

fr=ifoRad A A fdas gl & 9fty & Frafa smar wr gafda vd ghra fear?

(a) TS ®rHdrfers (b) ar¥ eReT
(c) R WM ¥R (d) @re fafeaerm
o amw sfhear Vae 1935 @ srava faurh wfeal frafafaa & aidt a8 off?
(a) < gfaar A (b) @R yfaar #
() = gfaar 4 (d) SuRiad § q @dlg A8l
yorg faftr amatr f=fafaa & @ fow af 4 fFgaa gam «ar?
(a) 1833 (b) 1834
(c) 1835 (d) 1836
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In which year Mughal Emperor Shah Alam granted the ‘Dewani of Bengal’ to the East Indi
Company?

(a) In 1762 (b) In 1763

(c) In 1764 (d) In 1765

Who was awarded the Ashok Chakra in January 2015 ?
(a) Subedar Ajay Vardhan (b) Naik Laxman Prasad
(c) Subedar Kosh Bahadur Gurung (d) Naik Neeraj Kumar

The full name of newly constituted ‘NITI Aayog’, which replaced *Planning Commission®
1s:-

(a) National Institute of Transmission India

(b) National Institution for Transforming India

(c) National Institute for Technical Information

(d) None of the above

Who is the ‘brand ambassador’ of Union Government’s. *Beti Bachao. Beti Padhao

Campaign’:-
(a) Madhuri Dixit (b) Hema Malini
(c) Rani Mukherjee (d) Kiran Bedi

The 121st Constitution Amendment Act relates to :-
(a) Reservation for OBC

(b) Right to Education

(c) National Judicial Appointment Commission
(d)  None of the above

Who among the following is the winner of 2014, Australian Open Tennis Championship in
women’s single ?

(a) Maria Sharapova (b) Serena Williams

(c) Venus Williams (d) Li Na

Which of the following Acts abolished Dyarchy system of Governance in the provinces?
(a) Government of India Act, 1919 (b) Government of India Act, 1935
(c) Indian Councils Act, 1892 (d) Indian Councils Act, 1909

Which charter provided for the establishment of Municipal Corporation in each Presidency
Town?

(a) Charter of 1726 (b) Charter of 1753

(c) Charter of 1773 (d)  Charter of 1774

In which year the Superme Court was established at Calcutta ?
(a) 1774 (b) 1772
(c) 1770 (d) None of the above
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el dI5eTE e Mad g fHa ad #§ geesPsa - & dad &) e

UgHE @ g?
(a) 1762 # (b) 1763 H
() 1764 ¥ (d) 1765 H

SFad) 2015 A fBY e g ugH fear war on?
(a) YdSR I g+ (b) ATID ALHUT YIS
() gdER B dEIgY [HI (d) e RS AR

AISAT AT @ I YR F99fSd A T &1 qof 99 8:—
(a) YA gEICYE TG grafheE ghsa

(b)  AUHd FREICYIA B gFABRMAT gfean

() AvEd g=AEYe BIR fFded sHIRATA

(d) Suded ¥ & &g 781

fomiforfaa & a9 @< WeR & 4 T@mRl, 48 gl AMIE &1 dis
vHEey & ?

(a) sy difara (b) =T #Hifer

(c) TR @l (d) feza 3d

121 9 Gfaum dmes afsf s gwfag @ —
(a) ercaiYe fUwer aif 2q smevw 4

(b) Rrem & sfoer |

() s =fye fgfea smabr 4

(d) SUlad # @ig a8l

fr=fefad § @ o149 2014 @ e forga antus 2o AfgaalRm wfger tea a1
forar &7

(a)  #RAT TwRTAtan (b) AT fafera=a

(c) dr=w faafa=g (d)  ofl—=r

fr=iforfRaa & @ fva affm g wisl & o Imas yorrel) |aaTe @) g
(a)  wRa TmE4 IFferfH, 1919 (b) WA gmaq AfSfaaw, 1935
()  wdrg aReg affas, 1892 (d) W< aRwg arfefsaw, 1909

fpw e} g1 g@s 9= TR ¥ =yfafme safeE @ g @ ag?

(a) 1726 &I dIEX (b) 1753 @I dIex
(c) 1773 &1 4IEx (d) 1774 @1 dTEx
wasmal W fey af STaan ETayg T gan?
(a) 1774 (b) 1772
(c) 1770 (d) Sulad ® § HIg A8l
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For administration of Justice the Civil and Criminal Courts were established in Presidency
towns by which of the following?

(a) By Charter of 1661 (b) By Charter of 1753

(c) By Charter of 1726 (d) None of the above

In Judicial Plan of 1772. the Sadar Nizamat Adalat consisted of one Indian Judge who was
known as :-

(a) Nawab-E-Adalat (b) Muftee’s Adalat

(c) Daroga-E-Adalat (d) Maulvi-E-Adalat

What is the name of the biopicture made on the life of famous Physicist and Cosmologist,
Stephen Hawking?

(a) The theory of everything (b)  The social network

(¢) Walk the line (d) None of the above

The airline joint venture between the Tata’s and Singapore Airlines is known as :-
(a) Samvad (b) Vistara
(c) Air Asia (d) Parakrama

Who among the following scientists has been awarded Bharat Ratna for the year 2014:-
(a) Har Govind Khurana (b) Amartya Sen
(c) C.N.R Rao (d) A.P.J. Abdul Kalam

In December 2014, The United Nation’s climate change conference was held in :-
(a) Poland (b) Peru
(c) Qatar (d) Mexico

What is the proposed venue of the 17" Non-Aligned Movement Summit in the year 20157
(a) Caracas (b) Tehran
(c) Havana (d) Durban

The Chairman of First Law Commission was :-
(a) Sir John Shore (b) Lord William Bentinck
(c) Lord Macaulay (d) Lord Clive

The Chief Judge of the Admiralty Court was known as :-
(a) Advocate General (b) Judge Advocate
(c) Chief Justice (d) Judge Agent

Which of the following courts did not fall under civil Judicature?
(a) Courts of Native Commissioner

(b) Zila Courts

(c) Courts of Circuit

(d) Sadar Dewani Adalat
(16) Series-A




69. URHS=N TRY § <yrg yuE @ forg Rifde vd snmuiie samareral @) <erras
FreifaRaa 4 @ feus gra wrfia @) a0 of?
(a) 1661 @ YR gIRI (b) 1753 @& 4IdY gRI
(c) 1726 & AR gRI (d) Sudad d Q@ HIg 48

70. 1772&%%ﬁmmﬁ'w%mmﬁ'wﬂmﬁuma%ﬂﬁgﬁ
erar o1 o) @ed 2A?
(a)  AA4I4—U—3fqTeld (b)  Hud & 3ycTAA
(c)  SRITT—U—3IgIddd (d) #Hreddl-v—arared

7. fig sifas aredl 3k ggave Rsn @@wa afda @ oflaq g &) Sfld9—gd
ey &1 dar w8 2

(a) @ AN ATH wadfdy (b) & W Aedd
(c) dfp T ars4 (d) Sulad ¥ &g 98]

72, CICl WE dAT RIMYR CaRels= & Hew gan Wisn faur aagitar 8-
(a)  ¥arg (b) fAwr
()  wux wlR¥rm (d)  uxTHH

73.  [w=faRaa 7 @ fda dsnfie & af 2014 ¥ wRd—vt yer fpar ar ?
(a)  ewnf=< g (b) 3w A4
(c) %o ¢-10 31R0 Y9 (d)  To dlo Vo 3fsgel dellH

74, WIS @1 AR 2014 A Arfia Serarg—aRady weles sal amatfoa
g:—

(a)  ulelvs § (b) U% A
()  ®ax ¥ (d) AfFaer §
75.  cfRder srelaa &1 17 af Rrax axias, af 2015 ¥ @&l &1 yxafag 272
(a) @B (b) dewH
() =4I (d) ex&d

76.  uaH fafyy amaty @ seas 7

(a) WX W 7R (b) s faferam dfcs
(c) 18 Apral ~(d)  drS deligd
7. ysfiRedl &I & g =marfier & qw @1 e o4
(a) Usdlde SRd (b) vl ysalade
()  Hwg =aranEfey (d) o9 gulve

78.  Fr=faRaa 4 @ &l @ siciaa Aarh ameal @ wwafug 98 of)?
(a)  wIFY BRTR $1d (R myda »1e)
(b)  Rrenr =arara™
(c) wafee »id
(d)  ¥ex Q9 3gTad
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In which of the following year Government of India was taken over by the British Crown
from East India Company?

(a) 1858 (b) 1857
() 1861 d) 1881

The Lex Loci report was presented by which of the following?
(a) [* Law Commission (b) [1" [.aw Commission

(¢) (11" Law Commission | (d) [V Law Commission

Who was awarded Jnanpith Award 2014:-
(a) Bhalchandra Nemade (b) Kedarnath Singh
(c) Pratibha Ray (d) Sri Lal Shukla

Who among the following has been appointed the United Nation’s Women's “Goodwill
Ambassador’ for the South Asian Region?

(a) Deepika Padukone (b) Sania Mirza

(c) Jaya Bachchan (d) Vidya Balan

The year long birth centenary celebrations of which noted classical singer began on
October 7. 20147

(a) M.S. Subulakshmi (b) Pandit Raghunath Panigrahi
(c) Begam Akhter (d) Pandit Bhimsen Joshi

In September 2014, The Uttarakhand Government declared which day as “The Himalay
Day”, to be celebrated every year from 2015 onwards for the conservation of the
Himalayan eco system? :-

(a) September 09 (b) September 07

(c) September 12 (d) September 10

The Prime Minister of India, Sri Narendra Modi participated in 6" BRICS Summit, which
was held in :-

(a) Shanghai - China (b) Dhaka - Bangladesh

(c) Fortaleza - Brazil (d) Durban - South Africa

Who was the first king of Tehri State?
(a) Manvendar Shah (b) Sudarsan Shah
(c) Upendra Shah (d) Yajuvendar Shah

From Uttarakhand who had played the main role in the revolt of 1857 A.D.?
(a) Govind Ballabh Pant (b) Kalu Mehra

(c) Hargovind Pant (d) Mohan Singh Mehta
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79. ﬁmﬁrﬁaﬂﬁﬁﬁmaﬁfﬁqﬂaaﬁﬂwaﬁﬁﬁmwﬁsﬁmm

A o ferm a1?
(a) 1858 (b) 1857
(c) 1861 (d) 1881

g0, daw it Raié Prafufaa & @ fraa gega @1 417
(@) v fafr amar 4 (b) focta fafd smata 4
(¢  qdva fafer smata A (d) aqed Ry smw A

g1 af 2014 &1 sl gREsR A gar fBan T e7?
(a) WTel g% AHQ (b) @arR Wi Rig
() whmrR (d) N drd Yael

82. ﬁwﬁrﬁaaﬁﬁaﬂqa@aﬁmm'mqﬁmT:ﬁHa%ﬁwm'ﬂqm
weasy e gdl 27
(a)  SysT urgsier (b) e i
(c)  oidT s@a-d (d)  faer 9rer

g3 b gywna el e @ aeErdl gy 9y R HriwHl &1 AFIul- 7 AdCE
2014 A AT g3I7
(a)  qHO wHo {yoieh (b) ufdea wgra giforre
()  d7TH IR (d) ufded MH A4 el

84. %mmaﬂmﬁﬁ&:ﬁﬂﬁmwreqaﬁ?mm?ﬁﬁmmzoﬂﬁmﬁq
A 2015 & Ry fRad @ vu 4 HAM @) 6O DY —
(a)  Faawv 09 (b) Fuawr o7
() Faawx 12 (d) FawR 10

85. wwﬁruumqﬁaﬁmﬂia'ma#wafawzﬂﬁwﬁaﬂﬁuﬁmmﬁﬁmﬁﬁ

T~ g3l -
(a) weng — @ H (b) @rdl — diianay y
()  widear — drelld (d) sxad — <f@m Sracdl
g6. feedl sy &l YA TSl @i T2
(a) A TE (b) gaud wmE
(c) SU ATE (d) dod~ W

87. Hﬂ1857§0$ﬁﬁ:ﬁﬁ'ﬂmﬁﬁﬂﬁ§@ﬂﬁﬁﬂmaﬁ2ﬂ?
(a) Mfa= e g (b)  rc] HEXT
(c) &% wfa=g = (d) #req Rig Aedr
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Which of the following statements is correct about the budgetary provisions of
Uttarakhand made in the financial year 2014-15?

(a) Revenue receipts are decreasing (b) Plan expenditure is decreasing
(c) Non-plan expenditure is increasing (d) Total tax revenue is decreasing

In which district the “Dokarani Glacier” is located?
(a) Pithoragarh District (b) Uttarkashi District
(c) Chamoli District (d) Rudraprayag District

What is “Green Bonus™ ?

(a) Compensatory return for the environmental services rendered by the state
(b) Special package to the state

(c) Promote agricultural activities

(d) Encourage environmental security

Where the SAARC Ministerial Meeting on climate change was held in 2014 ?
(a) Kyoto (b) Durban
(c) Copenhagen (d) New Delhi

According to official brochure released by the Department of Financial Service. under the
Prime Minister Janadhan Yojna (PMJDY). the country will be divided into a number of
sub-service areas. Each sub-area will have :-

(a) 500 - 1000 households (b) 1000 - 1500 households
(¢) 1500 - 2000 households (d) 2500 - 3000 households

The Government of India has recently decided to re-start the printing of which of the
following currency notes after a gap of 20 years?

(a) Rs.1 (b) Rs.2
(¢) Rs. 5 (d) All the above

What is the minimum deposit amount under the “Sukanya Samridhi Yojna™ launched by the
Union Government of India in January 2015 :-

(a) Rs. 500=00 (b) Rs. 1000=00

(c) Rs. 1500=00 (d) Rs. 2000=00

Which of the following states has declared *Dahi-Handi" as adventure sport on December 12,
20147

(a) Madhya Pradesh (b) Gujarat

(c) Maharashtra (d) Rajasthan

Indian Institute of Petroleum is located at :-
(a) Nainital (b) Dehradun
(c) Roorkee (d) Mussoorie
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ﬁmﬁ—rﬁaﬂ$wﬁﬁ?ﬁﬂﬁzm4—15ﬁaﬂ?@mmmnﬁm9ﬁaﬂfﬁ
® 9l $AU g8l 87

(a) rored wiiaaT ge W@ € | (b) AT @ ue € 2|

(€ AR—ATSHT Ha 4G Vel 2| (d) e ®X Auied HE @ 2 |

QYN feuse’ fra ey # Rera 27

(a) fadRITe wi-9g (b) Scaxdrefl ouq
(c)  dHrel SHUq (d) GEUAT W-ug
ff 919 @1 27

(a) wwu g wed gufavefia daen @ gfawed H afagfd
b) <roa @ fag e

(¢ o frarderdl @l dicared

(d)  ugfaxer {REr ol Yieimed

werary aRada w ara FAmvsdd 3o 2014 ¥ ®El g ofi?
(a) @l (b) ©EH
(c)  @IUARTH (d) T faeeh

faer dar UM gRT YETEHA SEE AT (drogosioLloargo) & srfd W
ﬁwﬂnqwa#uwémaﬁﬁm—éméﬁﬁﬁmﬁmﬁmwm
yd® Su—&a A AN -

(a) 500 — 1000 GRER (b) 1000 — 1500 URER

(c) 1500 — 2000 9RAER (d) 2500 — 3000 9RER

ﬁwﬁrﬁﬁﬁﬁﬁmﬁwﬁaﬁﬁaﬁmﬁzoaﬂ%mﬁmg&
ST B &1 Fivfy ARa axer A fear 87

(a) w0 1 (b) ®O 2

(c) W0 5 (d) wuRrad @

wﬁuwmmﬂzmsﬁmaﬁmﬁ'ﬂwmﬁ;m‘a%
st =gea s Al fa 272

(a) 0 500=00 (b) 0 1000=00

() %0 1500=00 (d) %0 2000=00

frfefga & ¥ fea wwg A 12 frErEx 2014 @ “TE—EE" Bl arefik @d @
wu A uif¥a fear?

(a)  Hed 9 (b)  ILGINI

(c)  HERTS (d)  XTereATH

qrda Ao weer Red @ -
(a) Afara A (b) dwwIgA A
(c) we@ A (d) QA
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Which of the following districts of Uttarakhand state has the largest Geographical area?
(a) Chamoli (b) Pithoragarh
(c) Uttarkashi (d) Dehradun

In which district the Herbal Research Institute of Uttarakhand is situated?
(a) Rudraprayag (b) Chamoli
(c) Almora (d) Dehradun

Which of the following tourist place of Uttarakhand does not match its group”
(a) Khirsu -Pauri Garhwal (b) Auli - Chamoli
(c) Shitlakhet - Almora (d) Kausani - Pithoragarh

In which year the ‘Nanda Devi Biosphere Reserve’, was declared as world heritage site by
the UNESCO ?

(a) 1990 by 1998
(c) 2000 d) 1988

The 102" Indian Science Congress, held during 3-7 January 2015, was hosted by :-
(a) J.N.U. New Delhi (b) Kolkata University
(c) Mumbai University (d) Patna University

The United Nation’s General Assembly has declared June 21 as :-
(a) World Food Day (b) International Women's Day
(c) International Yoga Day (d) World Population Day

India’s communication satellite GSAT-16 was successfully launched on December 7. 2014
from French Guiana. Operational life of GSAT is :-

(a) 12 years (b) 13 years
(c) 14 years (d) 15 years

Rolene Strauss, who was crowned Miss World 2014 on December 14, 2014, is a :-
(a) Student of Fine Arts (b) Student of Journalism
(c) Student of Medical (d) Student of Engineering

Who has been elected as the New President of *FICCI’ in December 20147
(a) Neeta Ambani (b) Chanda Kochar
(c) Jyotsna Suri (d) Jaya Bachchan

Which of the following district of Uttarakhand is reported to have largest forest cover oul
of total geographical area?

(a) Uttarkashi (b) Chamoli

(¢) Tehri Garhwal (d) Almora
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SaR@Eve ea @ RrefaRad seuet § @ f6a wiue &1 wimfae dawd aatfas

{4

(a) @Al (b) fRmTE

(c)  Savareh (d) <BgA

ITRIETE &1 o<l 43 v fw sug 3 Rerd @7

(a)  BeUIM (b)  aHIelT

(c)  areHTel (d) <&gA

SavEUe & Rreifulad wies @t § &9 9 ag @ § Ad T @ 8?
(a) Rdg — 91l wedara (b)  afeh — =wreh

() Rraaraa — rcHiel (d) @rarh — fauRRme

%ﬂﬁéﬁ@ﬁ#gﬁ'ﬁﬁﬁﬂﬁﬂﬁﬂﬁdﬁ'ﬁéﬁﬁﬁﬂﬂmwﬁﬁﬁ
fpar A a1 —

(a) &+ 1990 H (b) & 1998 H

(c) &+ 2000 A (d) & 1988 ¥

37 Ga 2015 &) W= 1024} WRAA s HIAE B A DY -

(a) o gH0 yo A faeeh 4 (b) @reasar fawafyenag |
(c) g favafdarea 4 (d) wedr fawafaenea A
RIS EY qERT A 21 ST B Al fear 8-

(a) fawa @ra feaw (b) iy wfgenn faaw
(c) S AT feaw (d) faza e feqd

ARG &1 AR IYUE ol de—16, 7 fREH=R 2014 & BALAFN 4 Ahearydad
gaifg fear Tar| off 9 @ $ar ¥ 39 SuUE B srafae Jafy @ -

(a) 12 ad (b) 13 ad

() 14 ad (d) 15 a¥

AN were o 14 Rawex 2014 B Pra—de< 2014, @ Gufa & 7@, a8 -
(a) cifera &dT @1 BT (b) UFBIRAT @ BIAT

() mdfasma @) sram (d) a1 B

fearar 2014 ¥ ‘Reaat’ &1 war seue fHQ gar T4 87

(a)  frar sr=Th (b) @l

(c)  warewHr g (d) AT gead
Wwﬁﬁm#ﬁmwﬁﬁaﬁiﬁmmmmﬁbﬁ
HHIT sreBIfed 87

(a) SavarEn (b) @AY

(c) fead weara (d)  SreHrsT
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The longest perennial river of Uttarakhand is ?

(a) Kali Nadi (Lipulekh to Tanak Pur)

(b) Bhagirathi Nadi (Gaumukh to Devprayag)

(c) Alaknanda Nadi (Satopanth to Devprayag)

(d) Ram Ganga Nadi West (Dudhatoli to Kalagarh)

Uttarakhand Space Application Centre was established in :-
(a) 2000 (b) 2004
(c) 2005 (d) 2007

‘Chipko Movement” activist *Gaura Devi® was born in :-
(a) Lata Village (b) Chinka Village
(c) Mana Village (d) Nakuri Village

How many districts of Uttarakhand touch the boundary of Chamoli district?

(a) 6 (b) 4

(c) 7 (d) 5

Who was declared as ‘Times person of the year’ for 20147

(a) Ebola Fighters (b) Vladimir Putin
(c) Taylor Swift (d)  Tim Cook

Who among the following was conferred the Arjuna Award 2015 for excellent performance

in sports :-
(a) Virat Kohli (b) Sachin Tendulkar
(¢c) M.S. Dhonti (d) None of the above

Apart from Uttarakhand. which of the following state has recently introduced a new route for

Kailash Mansarovar pilgrimage?
(a) Himachal Pradesh (b) Sikkim
(c) Jammu and Kashmir (d) Arunachal Pradesh

Recently published famous Hindi novel “Banaras Talkies™ is authored by :-

(a) Ashish Chaudhary (b) Satya Vyas

(c) Dibya Prakash Dubey (d) Anu Singh Chaudhary
Who is the Chief Economic Advisor to the Government of India :-

(a) Bimal Jalan (b) Y.V. Reddy

(c) Arvind Subramaniam (d) Arvind Panagariya

To which century Guru Gorakhnath belonged to :-
(a) 14" Century (b) 15" Century
(c) 13" Century (d) 11" Century
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SaeEe &) gl ol aqaarte T 27

(a)  @rcll A< (forgate 4 <TdR)

(b)  wrfRell A (My@ | dauar)

(© ot Ad) (@diue @ Qauar)

(d) < Y ufe (garatell & BTeTTE)

Wmaiaﬁaﬂqmna?taaﬁwmmaﬁnéeﬂ?
(a) @+ 2000 (b) & 2004 H

LS

(c) 9 2005 ¥ (d) & 2007 ¥

A

Al arled @ afpa —eriddl WA BT T 3T =T
(a)  @rar wd # (b) fo=ier T4 ]
(c)  wom wid H (d) AT wia A

Wméﬁmﬁwwﬁaﬁwaﬂmﬁﬁﬂmﬁ?

(a) 6 (b) 4

(c) 7 (d) 5
aﬁzoua%m'muﬁaaﬁtﬁam‘ﬁrau’rﬁamw%?
(a)  gElal wrged b) eenfafir gfaa

(c) ear Rade (d) fea—aa

ﬁrwﬁ%!ﬁ‘ﬂﬂﬂﬂf&ﬁ@aﬁ'ﬁwuéaﬁa‘;maﬁzmsﬂar@agﬁiﬁw
yer fear war?

(a) e ®lech (b) afaa d-ged

(¢ W= Rig = d)  Swad A A olg A€

W$arﬁ1ﬁ?ﬁ§mﬁﬁmﬁiﬁﬂﬂﬁﬁmﬂwﬁ$ammﬂWaiuﬁ1
& fore = wnf yRe fear?

(a) fewmged uaw (b) FufdwH
() wiv wd R (d) arevirdel Udy
mﬁumﬁmaﬁfaﬁm‘ma&ﬂa'fﬁﬁaﬁ% =
(a)  amefy =Aled &N (b) A T gRI
(c) fa=a gar¥ gd BT (d) o Riz Aed gv
AR ERHR B q& A EH FATEDPR a4 e ?
(a) fawer Sirer (b) argo o X&)
(c) orfawg YauvaH (d) arfasq uafsan
qﬁfﬁ?@ﬂwﬁmwé}ﬁmﬁaﬁﬁﬁz-
(a) 14 & @<l 2o (b) 15 i @ g0
(c) 13 Wl 20 (d) 11 di | 20
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117.  Out of the following, who participated in “Dandi March™ from Uttarakhand ?
(a) Jyotiram Kandpal (b) Mukandi Lal
(c) Badri Dutt Pande (d) Govind Ballabh Pant

118. Taleshwar copper plates are related to which dynasty?
(a) Kuninda (b) Raika
(c) Mall , (d) Paurav

119. In which year Swami Vivekanand came to Almora for the first time? !
(a) 1889 (b) 1891 |
(c) 1790 (d) 1890 ;

120. In which year did the practice of “Coolie Begar Pratha’ end?
(a) 1923 (b) 1916
(c) 1919 (d) 1921

121.  The first christian missionary to come to India was :-
(a) St. Paul (b) St. Thomas
(c) St. Augustine (d) St. Francis

122.  Who was the author of the book ‘Natyashastra™ ?
(a) Bharatmuni (b) Bhasa
(¢) Vasumitra (d) Nagarjuna

123. ‘Saka Era’ started from :-

(a) 78 A. D. (b) 320 A.D.
(¢) 606 A.D. (d) 58 A.D.
124.  According to Milind Panho, who was the Buddhist monk to whom King Milind posed a
question?
(a) Anand (b) Ashvaghosh
() Nagasena (d) None of the above

125.  Who composed the Mandsaur Prasasti?
(a) Vasul (b) Harisena
(c) Vats Bhatti (d) None of the above

126.  When did ‘Tilari Kand’ occur?
(a) 21 May, 1930 (b) 30 May, 1930
(c) 25 July, 1931 (d) 25 May. 1930

127.  Who was the first Chief Information Commissioner of Uttarakhand?

(a) Ajay Vikram Singh (b) R. K. Sudhansu
(c) R. S. Tolia (d) N. S. Napchayal
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Jaerave @ e F @ fraa e ard’ ¥ ufaw fear an?

(a)  SuIfoR™ Srosurd (b) HH-<eTel

(c) e urvs (d) mfa<daedn =
dravar aEuAl &1 ey fed 99 4 27

(a) @frw (b) a1

(c)  Hedl (d) dlRa

@l e foy af yem ) JrcHTsT 3y A7
(a) W 1889 H (b) & 1891 #
(c) &9 1790 A (d) &+ 1890 H

‘defl AR YT 4 gATG g3 of1?
(@) & 1923 H (b) & 1916 A
() & 1919 # (d) & 1921

qRd AT aTell 9H S9I3 (=) &r—
(a) &d ure (b) ¥d ATH™

(c)  Hd JATTEEIZA (d) wa wifs
ey et TEIS & ddd DI AqT?
(a) WY (b) T
() agfaA (d)  ARTioA
b Haa YR g3l A1 -~
(a) 78 SE (b) 320 g¥d
() 606 ¥ (d) 58 g¥dl
fifere gef @ oraR few dtg Prgg A won ffas 3 geT 9817
(a) < (b)  3reqHEIY
(c)  «NTA+ (d) wufad ¥ | HIg Tl
ey geiia’ @) vgAr fea @) of?
(a)  arge (b) ®Rdwr _
() dcd HEd (d) Sudad ¥ 4 HIg A€
el @ve’ @9 afed gam a1?
(a) 21 9$ 1930 A (b) 30 WS 1930 A
(c) 25 Gforrg 1931 # (d) 25 9g 1930 A
STRTEYS @ UH I JRFd Hi A?
(a) erorg fawma Rie (b) @R &. Uy,
(c)  arR. ud. eifer (d) UH.UY. A9gdrc
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128. How many seats are there in the Rajya Sabha from Uttarakhand?
(a) 05 (by 03
(c) 07 (d) 02

129.  Which of the following tribes of Uttarakhand had trade relations with Tibet before the
Indo-China war of 19627

(a) Bhotia (b) Raji
(c) Boksa (d) Jaunsari

130.  The outburst of which of the following lake/tal was the main cause of Kedar Nath disaster
on June 16th & 17th 2013:-

(a) Benital (b) Vishnu tal
(c) Chaurabari tal (d) Yam tal

131.  Name the first ruler of Delhi Sultanate who issued pure Arabic coins :-
(a) Qutubuddin Aibek (b) Shamsuddin ltutmish
(c) Ruknuddin Firoze (d) Bahram Shah

132.  What was the language of higher administration in the Mughal Empire ?
(a) Arabic (b) Persian
(¢) Urdu (d) Hindi

133.  Which ruler of Delhi Sultanate declared himself Khalifa ?
(a) Alauddin Khilji (b) Qutubuddin Mubarak Khilji
(c) Muhammad-Bin-Tughlag (d) Feroze Shah Tughlaq

134.  Who is the author of the book *Tarikh-i-Shershahi™?
(a) Ahmad Yadgar (b) Abbas Sarwani
(c) Nizamuddin Ahmad (d) Abdul Qadir Badayuni

135.  *Sikri’ was renamed ‘Fatehpur Sikri’ after Akbar’s victory over :-
(a) Gujarat (b) Rajasthan
(¢) Mewar (d) None of the above

136. Indian Parliament does not have the authority to :-
(a) Debate the proposals put forward by the Council of Ministers
(b) Propose new taxes
(c) Reduce taxes proposed by the Council of Ministers
(d)  Refuse to pass the taxes proposed by the Council of Ministers

137.  Which State Assembly in India has six year term ?
(a) Mizoram (b) Nagaland
(¢) Jammu & Kashmir (d) None of the above
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128, IeRI@vS A TS G@HI B {Had dre &7
(@) 05 (b) 03
(c) 07 (d) 02

129 FreifeRag ¥ Sdvi@vs @ S @, 1962 @ URA-NA g& A qd e &
rx AuilRe ey 94?

(a)  wifear (b) =l
(c) e (d)  oitFard

130, Pr=ifoRaa & @ @Y @ sa/drd &1 ¢l 16 @ 17 o[, 2013 B BARATA
JMUGT &I YHE SRV AT?
(a) &N dare (b)  faw drd
() & drd (d) d® drd

131 Prod) Weddd @ Su YA D & AW dargd R ga ord) Rigd ol

fepa:—

(a) @qge tde (b)  THAYEA gegaln

() woqgqdE b (d) 9| WUl
132. ﬁwwﬁmwwqmﬂaﬁﬂmwm?

(a) el (b) Wil

() 99, (@) R
133. ﬁﬁﬁﬂﬁﬁﬂ%mm#maﬁ@?ﬂmaﬁﬁfﬁm?

(a)  ercrsdH Raash (b) HagD gaRs Racioh

() HeWe—faa—qird® (d) e wme gude
134, ARG U-IREE) gRad B AWd B &7

(a)  JAeHT AR (b)  areqry ¥RAIA

() o= sigde (d) aregd ®ifex 4qrA
135 aipex 4 fbw v W RWE & Iuvi Wad’ o ‘waeygy el &

qr?

(a) ORI (b)  RTSIERATA

(c)  HaTs (d) Swfad ¥ A B AL

136. WW$Wﬁﬂﬁfﬁﬂ'ﬂﬂﬁﬁﬂiﬁgi—
(a) ®AuR¥g grT 9w fay Y gedral uR are—fagarg axel @l
(b) A & el gwdrd Q91 HA DI
() #AuRwe gr1 yxaifad H B BH B Dl
) wAuRwe gr1 yEdfaa &7 @l uRd & A RAGIR ded B

137, wRd § &4 I s &) arafy v ad 2?2
(a) fAsIRH (b)  APNIAvS
() W= 9 BITHR (d) Sudled A HIg e
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Which of the following states have bi-cameral legislature?
(a) Bihar, U.P., Madhya Pradesh. Maharashtra

(b) Bihar, U.P., Maharashtra. Karnataka

(c) Bihar, U.P., Maharashtra, Tamilnadu

(d) Bihar, U.P., Madhya Pradesh, Tamilnadu

Fundamental Duties have been included in Indian Constitution under the following
constitutional amendments :-

(a) 42" and 46™ (b) 46" and 86"
(¢) 42 and {6™ (d) 42w

Which one of the following Indian President’s had been the Speaker of Lok Sabha?
(a) Dr. Radhakrishnan (b) Neelam Sanjeeva Reddy
(c) FFakhruddin Ali Ahmad (d) Giani Zail Singh

“Young Bengal Movement® was started by :-
(a) Raja Rammohan Roy (b) Henry Vivian Derozio
(c) Annie Besant (d) Gopal Krishna Gokhale

Who wrote the book *Bandi Jivan'?
(a) Ram Prasad Bismil (b) Jogesh Chatterjee
(c) Bhagat Singh (d) Sachindra Nath Sanyal

Who founded the ‘Abhinav Bharat’ ?
(a) Aurobindo Ghosh (b) V. D. Savarkar
(c) B. C. Pal (d) Lala Lajpat Rai

Who was the first-Viceroy of India ?
(a) Lord Canning (b) Lord L.awrence
{(c) Lord Mayo (d) lLord Ripon

When did the Governor General Lord William Bentinck prohibit *Sati System™?
(a) 1826 (b) 1827
(c) 1828 (d)y 1829

Attorney General of India has the right to take part in the proceedings of the following, but |
shall not be entitled to vote :-

(a) Either of the Houses of Paliament

(b) Joint sittings of the Houses of Parliament

(c) Committees of Parliament where he is nominated
(d) All of the above

|

Minimum age for voting was reduced from 21 years to 18 years by which of the following
contitutional amendments ?
(a) 72" Amendment (b) 86" Amendment

(c) 76™ Amendment (d) 61 Amendment
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aea ¥ PrfoiRaa fve o o fZaedy Ramufae 272
(a) ReEr, gd, 91 ydel, T8RS

b) faer, g @, werrsg, dled

(c) faewr, g, ggrrg, afiedrg

(d) fer, g4, weg g, dfiarg

e wfem 3 @fe edat o fbq d@fufe gea @ smuR R wfid
feparr T 27
(a) 42 @i d 46 @I (b) 46 di 9 86 dl

(c) 42 491 4 86 dl (d) 42 dl

Pr=ifafaa ¥ a1 e wRdy Tl dewdr & e W @ 9P A7

(a)  S10 YMEIHEH (b) o wohar €l

() ®EGEIA el A&HYG (d) g od e

W T aete’ fhasd gRr e feyar qar?

(a)  XTell EAIEA A (b) o= fafawa fEAafel
() @il 4897 (d)  MuTed $WT bl
‘4 offg’ geasd fea fordl?

(a) <" gare faREd (b)  wrter gl

() #wa flg (d) Gd=s a1 |l

T MRa” @) AT feas 617
(a) orfa== 9w (b) o Slo Hia¥H
(c) o o urel (d)  ©TelT drsiast A

WRG & YH qraaxrd &g Aa1?

(a) s @far (b) did ¥4

(c) oS HAl (d) @1d Rud
Ta_oERd o fafaw afte 9 wd) var @1 ey ed fear?
(a) 1826 (b) 1827

(c) 1828 (d) 1829

menmfﬂﬁmaﬁwTﬁﬂmaﬁﬁaxfél?ﬁﬁwmgmﬁqa
ale 34 &1 aftrer ad 28—

(@) wye @ fedl of weq @

(b) EHe ® WeAl @ WYdd dodl d

(c) sge & afafyat ¥ el g8 9Aa e gl

(d) Suwiga @il A

HAararan &) <Yd9 3y 21 ¥ A @ ¥ 18 q¥ Fr=fafaa A fea wdufie
daned & gRT @) g7
(a) 72 af HelaA (b) 86 df €Y
(c) 76 df @A (d) 61 d Gne
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148. Provision for Local Self Government is made under :-
(a) Article 361 (b) Article 243
(c) Article 324 (d) Article 368

149. A constitutional Amendment bill can be introduced :-
(a) First in Lok Sabha
(b) First in Rajya Sabha
(¢) In any of the two Houses
(d) Only after the approval of the President of India

150.  To whom amongst the following, the President addresses his letter of resignation?
(a) Prime Minister
(b) Vice President
(c) Speaker of .ok Sabha
(d) Chief Justice of Supreme Court

151.  From which country the Renaissance started?
(a) Germany (b) Italy
(c) France (d) England

152, Martin Luther was the native of which country?
(a) England (b) ltaly
(c) Germany (d) France

153, Who was the ruler of England at the time of the *Glorious Revolution™ of 16887
(a) James | (b) James [l
() Charles 1 (d) Charles 11

154, Who wrote the book “The Praise of Folly™?
(a) Martin Luther (b) Calvin
(c) Erasmus (d) Voltaire

155.  Metternich was the chancellor of :
(a) Germany (b) Italy
(c) France (d) Austria

156. Hindi language is provided special status in the constitution under :-
(a) Article 342 (b) Article 351
(c) Article 343 (d) Article 340

157, Salaries of the Judges of the Supreme Court can be reduced when :-
(a) There is Financial Emergency
(b) There is National Emergency
(¢) There is Constitutional Emergency
(d) Cannot be reduced in any case
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148, vorrla @R wxeR @) awen Frafafaa ¥ few srge 4 @) 0¥ 27
(a) IITBT 361 A (b) AqBG 243 A
(c) Irqw8q 324 A (d) gT8< 368 A

149. dferm wengd g Rgae du B S 8-
(a) UgS ol W A
(b)  Ugd ISy |HT H
(c) e % A fed) off e A
(d) ddd AR & W ufd @ WPl & g

150, frer & @ fras) Ieufy amger canrys |xEIfdd odr 287
(a)  HETTHA! &I
(b) Su—xrgufa &
(c) ot WHI © e Hl
(d) wafes =maTad & e A o

151,  gAWiRT &7 grRew—fe Qu A g3 Au1?
(a)  swid (b)  geel
(c) T (d) gTdve

152.  Hiféq R fow du &1 fFard on?

(a) gTvS (b)  geell
(c) N (d) W
153. 1688 @ MRayyl @I & w¥a TATS PI WD B AT?
(a) ORI UUH (b) wiwg fgdra
(c)  =Ted YH (d) =T fdra
154. 2 U9 316 GTell’ y&ia fhuq foredt o7
(a)  wIfET e (b) Dfeas
(c)  gvuHy (d) dredar
155. WAexfg fea 2 &1 ArEar AT?
(a) oA (b)  gcell
(c)  wId (d) amRgar
156, wREE ¥ R wmer @ e ¥ @ few agese g faety quf fRar w27
(a) T 342 (b) T@8E 351
(c) AT 343 (d) JTT 340

157, wafea <rTad @ =ararEe &7 da9 &H fBar S "adl 8
(a) faRra smuraea &
(b) XA IuTADHIA H
(c) waurfre anyraerd d
(d) frd N Rafa § &9 78 feur o1 @
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158.  Who has the power to dissolve the Rajya Sabha?
(a) The President of India (b) The Prime Minister
(c) The Lok Sabha (d) None of the above

159, The final authority for creating a new state in India lies with :-
(a) The Parliament (b) The President of India
(c) The Prime Minister (d) The Council of Ministers

160. Estimates Committee of Lok Sabha has a term of :-
(a) One year (b) Two years
(c) Four years . (d) Five years

161.  Which of the following is the largest Island of Japan?
(a) Honshu (b) Shikoku
(c) Hokkaido (d) Kyushu

162.  The landform ‘Barkhan’ is formed by :-
(a) Wind (b) Running water
(c) Glacier (d) None of the above

163.  Stalactite and Stalagmite are found in which region?
(a) Arid region (b) Coastal region
(c) Glacial region (d)  Karstregion

164.  Which country is the largest producer of tea in the world?
(a) China - (b) India
(c) Kenya (d) Sri Lanka

165. Valley of flowers is situated in which of the following district?
(a) Rudraprayag (b) Chamoli
(c) Bageshwar (d) Pithoragarh

166. State of Sikkim was made a part of Indian Union in :-
(a) June 1969 (b) April 1975
(c) December 1972 (d) July 1980

167.  Which part of the Indian Constitution includes the Directive Principles of State Policy?

(a)  Partl (b)  Partll
(¢)  Partlll (d)  PartlV
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IS AT B 9T H1 3 vfdd =1 4 feas g 27

(a) WRd & rsgufa (b)  wHTEHA

(c)  le aur (d) Suiad # fedl & yra =)
HRA § 94 U] & oA &1 IAf~aq e = ¥ fdus gy 27

(a) HYe (b) WA & Iweyfd

(c) UETAH A (d) #AuRuqg

dld 91 @1 A Affa &1 eriera grar 27?

(a) U® ad (b) & a¥

(c) dR a¥ (d) dfg a9

fr=fearRaa & @ @9 S &1 999 981 £y 272

(a)  BI=Y (b) Rrala
(c) @ldsl (d) 93
q-arpfa sxam Ffta grd 8-
(a)  Uad gIRT (b) d&d g4 Wd gWI
(c) fw=g g™ (d) Suad & q HIg A8
Wogerge Ud Roge fay y2er 4 ard Wi 7
(a) S G ' (b) AN waW
(c) fewr w2 (d) @R 9o
fagg ¥ 919 &1 WY TS1 SAUCD 2 BT 2?
(a) (b) W
(c) @I (d)  sNeisr
wal o gl e A ¥ 5w a9ug 9 Rea 22
(a)  wBLYATT (b)  =HIN
(c)  dmIEaR (d) ReRrre
fufedd &1 faerg wRa 4 9 gann?
(a) o7 1969 H (b)  3rder 1975 A
() fegwax 1972 & (d)  Seirg 1980 A
ARG d@faus & fea 9 § wrvg @ N [Ad e gl &1 Seot@ fhar 1ar 27
(@) AT I (b)  HI I
(c) AR 1 (d) 9wOr1 IV
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Which of the following articles empowers Parliament to amend the Constitution?
(a) Article 368 (b) Article 370
(c) Article 341 (d) None of the above

Under which article of the Indian Constitution it is incorporated that “The state shall take
Steps to separate the judiciary from the executive in the public services of the state™

(a) Article 39 (b) Article 4]
(c) Article 50 (d) Article 44

Which article of the Indian Constitution declares that “India is a Union of States™
(a) Article | (b) Article 2
(c) Article 3 (d) Article 4

Which one of the following rivers does not flow in Siberia?
(a) Lena (b) Nile
(c) Yenisey (d) Ob

A. Nigeria l. Juba
B. South Sudan 2. Abu Dhabi
C. U.A. Emirates 3. Abuja
D. Tanzania 4, Dodoma
CODES

A B C D
(@ 2 1 3 4
(b) 4 3 2 |
(c) 1 4 3 2
(d) 3 1 2 4
Which of the following is the largest producer state of Jute in India:-
(a) Bihar (b) Gujarat
(c) West Bengal (d) Andhra Pradesh
*‘Malacca strait’ ljes between :-
(a) India and Sri Lanka (b) Indonesia and Malaysia
(c) Taiwan and Philippines (d) Australia and New Guinea

(a) India (b) China
(c) France (d) U.S.A.
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68, Fie 4 @ dl9 @1 e GuE @ Adue weed o FfTHR g ddl 87

(a) 3JEB< 368 (b) 3r@8e 370
(c)  3IBC 341 (d) Sutad ¥ @ BIg EEi

60 iy whum @ feu g ¥ ug wife @ &, arduifie Qaai A
et & SriufieT ¥ e e B Ay s Serg?

(a) 3BT 39 (b) 3r=BE 41
(c)  3rg@8e 50 (d) 38T 44
70, wiedly wuE @ fbu ag@d gRI g8 "N @) ag & b akd Ul @1 b
qg 87
(a) IETE 1 (b) dfade 2
() 3I=B<q 3 (d) = 4
171, Ppa § Q Y @ 98 wrzdlRar A garfad @g) &idl 28?
(a)  efT (b) at
() A (d) 3nd

172, Al | (@), B A 1 (?murrﬂ)a%waﬁaﬁﬁﬂﬁmhfﬁﬁf&ﬂ@agaﬁ
gg) ST &1 quA DI

gl 1 GGIRL
A, ArgenRan I oldl
B. wigof s 2 arrq, ¢rdl
C.  do 30 3pfivia 3 3iqull
D.  dunfran 4, <rern
@e
A B C D
(a) 2 1 3 4
(b) 4 3 2 1
(c) 1 4 3 2
(d) 3 1 2 4
173, wed P oAl § A et A e qdifae g ST exdl 27?
(a) faEr (b) eI
(c) uf=H qTa (d) 3w yew

174,  Weradl ddeHwHE & Hed Rerd 8-

(a) WG 3R Aedd1 (b)  gvelARRm 3k #Halmi

(c)  argard R [ehdi-u (d) e faan st YA
175, PrefoRad § oY ya Qo faza # A &1 gei SdlEe (2012) @ ?

(a) AR (b)

(c) Wi (d) w0 o AR
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Which of the following number system is basically used by computers to store data and

perform calculations?

(a) Octal (b) Hexadecimal

(c) Binary (d) Decimal

MS-Office is a :-

(a) Hardware (b) Software

(c) Humanware (d) None of the above
RAN I8 .oocnnvovo 1T (———— memory :-

(a) Volatile, temporary (b) Volatile. permanent

(c) Non-Volatile, permanent (d) Non-Volatile. temporary

Size of a nibble is .......... -
(a) 4 bytes (b) 4 bits
(c) 4 Kilobytes (d) 4 Megabytes

Which of the following is largest size of storage ?
(a) Terabyte (b) Petabyte
(c) Gigabyte (d) Kilobyte

Name the International boundary line between India and Pakistan :-
(a) Radcliffe line (b) Durand line
(c) Mc Mohan line (d) Siegfricd line

In which state the Periyar wild life sanctuary is located ?
(a) Tamilnadu (b) Karnataka
(c) Andhra Pradesh (d) Kerala

Which one of the following state has the largest coal reserve?
(a) Jharkhand (b) Chhattisgarh
(c) Odisha (d) West Bengal

The petroleum producing places, Kirkuk, Mosul and Basara are situated in :-
(a) [raq (b) Saudi Arabia
(c) Iran (d) Russia

River Kali seperates Uttarakhand from :-

(a) Nepal (b) Uttar Pradesh
(c) China (d) Himachal Pradesh
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frfafaa & 4@ srer W9a 3R vEr 9 @ [ "Ed: e g1 bl ¥l
|1 yorrell g @) St 872

(a)  IreTTNY (b) eaarsfuae

(c) 91zl (d) <eHd

v T3y B —

(a) BrEdAR (b) ATHedAUN

(c) BgHA AW (d) Sutad ¥ A &g Al
N AR . AN B -

(a)  3fRerR, srearfl (b)  arReR, Tmh

() x—afRerx, w=mrf (d)  IR—arReR, i
fsact &1 R 8ldar & —

(a) dR dIgcH (b) dR facH

(c) 4R feaiaEge (d) dR AMEIEE
foferfRaa & @ &9 WeRvT @ ged 9€) -y & ?

(a) ewrEIge (b) UeEEe

(c) farerge (d) foararse

HRd vd yifewda & da st A @1 o1 9H 9digd—
(a) Nefdaw v (b)  gYUS XAl

(c) HAe—area I@r (d) Rrmers n
1RaR a1 oflg vy fey vy d Rera 287

(a) afAerATg (b) @-iicd

(c)  ATUSI (d) @3

frafeafaa ¥ 9 By e s &1 siaa & dhud Tvesr gaffe 872
(a) SIRETS (b) BANTE

(c)  snfsem (d) uf¥=wm qard
wfor der SauTed F feva®, diad ¢d 9avr Red 28—

(a) su& H (b) EHAl 3E

(c) suad#H (d) wg #

Hlcfl ¢l ITRIEUE Bl HAT Bl & —
(a)  AAurer ¥ (b) 8<X Yy &
) d= 9 (d) fewrad ucwr 4
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186. What is the name given to those applications that combine text. sound. graphics. motion
video and/or animation?

(a) Motionware (b) Anigraphics
(¢) Maxmedia (d) Multimedia

187.  Which type of memory does lose its contents when you switch off computer?’
(a) ROM (b) Secondary Memory
(c) RAM (d) None of these

188. Which of the following converts high level language to machine language?
(a) Loader (b) Compiler

(c) Assembler (d) Linker

189.  Which of the following language uses the concepts of object oriented programming”

(a)  BASIC (b)  FORTRAN
(c)  PASCAL (d)  JAVA

190. Computers built before the first generation of computers were ................ -
(a) Mechanical (b) Electro-Mechanical
(¢) Electrical (d) None of these

191. To which of the following races. the people of Congo basin are associated :-
(a) Caucasoid (b) Australoid
(c) Mongoloid (d) Negroid

192.  Which country is not the member of "“SAARC" :-
(a) Maldives (b) Bhutan
(c) Bangladesh (d) China

193.  The imaginany lines joining the places of same elevation above the sea level on the map is

called :-
(a) Contours (b) Isotherms
(c) [sobars (d) Isodopen

194.  In which State/Union Territory of India the “Indira Point” is situated :-
(a) Kerala (b) Tamilnadu

(c) Andaman and Nicobar (d) l.akshadweep
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186, ave. wfy, wifaw, afema AfsA) sk /a1 TAwE &1 redfEd dv- arell
AT afhar &1 A @ 87
(a)  #HEEAAR (b)  N-rTfhew
()  Aaudifsar (d)  wed e

187. o4 AU HFIYER P d¢ ded & by geR &1 A9 @ U fawy-—d¥g @i

ysd 27
(a) A (b) faydhas AA
(c) 4 (d) 99 @ @I A&

188, fys ¥ R @Y 9ed iy AT &1 weNA wrer F gRafda evar 27

(a) @IS (b)  HHIZR
(c) UaEeR (d) foi@x
189, Py § @ @Y Y AreT anedtae aNRALe GHUTHN & JdUINVIT b gata o)
27
(a) df® (b)  WIRET
(c)  UT¥hel (d)  wiTdl

190. HWYER P ggell N | v a1 FYH ... o):—

(a) & by fagdra—aifye

(c) faegda (d) 99 A B T8
191. S AR @ o B ¥ @ e gorfa @ wefaa 87

(a) @IHWEIZS (b) IS ATSS

(c)  #Huldlgs (d) Nulgs
192, e § @ @19 W@’ & gew 29 T8 27

(a)  HIciqld (b) eI

()  €idRY (d) o+

193, WS UR &IE € WHE WaE A G Sarg arad A @ e arel
HTUfTd 3@ Hedrdl ai—
(a) gHlT@ ™Al (b)  EHCTY Rl
(c)  WHeTd Y@l (d) @S

104. ‘zfewr wWige WRd @ few Isu / dwwnfid gyaor ¥ Rerd & ?
(a)  ®XA (b) afesTg
() arewH FdleR (d) gy
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195.  When the Gulf stream moves across the Atlantic Ocean, it is known as :-
(a) Canaries Current (b) Guinea Current
(c) [abrador Current (d) North Atlantic Drift

196.  The brain of any computer system is ............ -
(a) I/0 unit (b) Memory

(c) CPL (d) None ot these

197.  How many different symbols can be represented in computer with 8 bits ?
(a) 128 (b) 1024
(c) 253 (d)y 256

198. What does identify the type of file ?
(a) Folder (b) Filename

(c) Extension (d) Path

199.  What is the basic building block of a database that contains related records
(a) Table (b) Form
(c) Query (d) None of these

200.  Which of the following tool allows you in MS-word to produce multiple letters and labels?
(a) Mail merge (b) E-mail
(c) Hyperlinking (d) None of these
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195. W4 MBI 19 Icdifed AN @l YR &Rd) 8, g W+l ofidl 8:—
(a) @A gRT (b) AT GRY
(c) ETSIR gRT (d) Sax edifed fgue

196. fpdl drger Riwed &1 alass 82—
(a) 3 /an gfae (b)  #HI
(c) @Y dr g (d) 3917 ¥ &Ig 481

197. ®vgex ¥ Ime facy g fhad ave & fue ualRfa fdY o wad 27
(a) 128 (b) 1024

(c) 255 (d) 256

198. BIsd ® YR @ ygdd fead s 27
(a)  Wiesy (b) WIEd A%
(c) qaEe¥H (d) Ut

199. fel) srer 39 &1 go Fwfor @vs @y @, fwd wwefua s gla 27

(a)  arferar (b)
(c)  goBI (d) 399 q ®Ig F8)
200. =1 ¥ @ 317 W1 <, UH gE-—a< ¥ qgd @ uA a1 A4 &1 & faY ggad
gar &7
(a) A Hel (b) -9
(c) @rgux fafe (d) 9% ¥ @Ig T8l
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